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4.1.1 0OO0O0O0O0OO0OO
oboooooobobooooooboobo.

3
T, = a—g‘uzm I,|sin

¢ 0 0000000 =3.99 x 104km?3/s2]0
e 0 00000 =8.06x 10%km]0
¢ 0 »00000000000000 =90.0[deg]0

000000000000 #=90deg00000000
0000000 T,=297x10"7 [Nm]O0OOO

4.1.2 0OO0O0OO0O0OO

O0o0oooooooooooooonoooo
T, = P;A;Lg(10 q)cosi

00000000 =4.62[N/m?|0
0000000000 =540 x 1071 m?]0
00000DO00D0D0OO000000

(= 1.87[m])

00000 =0.60—]0

0000000 =0[deg)O

&
O

i O
0000000000000 T, =750 x 10~7[Nm] O
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4.1.3 0DO0O0OO0ODO

goooooobboooooooooobbooogo

T,, = 107'DB
oM
B == 7"_3

D 0 ODO0O00oOoOoooono
0 = 2.00 x 10®[pole-cm]0]
B 0 0000000000 =3.06x 107! [gauss|O
M 0 000000000 =8.00x 1025[emu]0
r 0 OD0OO0O000O0O0DO00 =8.06x 108[cm]0

00000000000 T, = 6.11 x 107° [Nm] O
oood

4.1.4 0DOOO0OO

uboo0ooooboooooonbo

T,
F

F-l

1
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| 0 000000000000O000000
0 =1.22x 10~2[m|0

p O OO0 1680kmO00000
0 =1.07x 10~ kg/m?)D

A 0 000000000000
0 =540x 10~![m?]0

V 0 00000 =7.03km/s]0

C, 0 00000 =22[km/s|0

0000000000 7T,=384x10"? [Nm|O0O0O0O
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H=T,+Ts+T,) -T/2+ T, /w- (10 cos(wT/2))

T 0O 000000 =7200[s)0
w 0 000000000 =872x 10-4[rad/s|0

0000000000 H=0.144Nms| OO OO

0210000000

ooooo 0o (OO 0
00oooooo T, | Nm | 2.97x 1077
00o0o0Ooooo T, | Nm | 7.50%x 107
ooooooo T, | Nm | 6.11x 1075

ooooo T, | Nm | 3.84x 107°

000000000 | Thee | Nm | 6.22x 1077

4.2 000000

goobooobooboobooboooocooboo
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4.2.1 00000

gbobooooobOoboooobooboobono
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gbboooooooboooooooboooboooooo

0 2600000000000

goodoooboooooooobuoooooog
goodobooobouooobooboobuoooooon
gb0dddooboooobooooobboooooon
gb0dddooboooooobooooobooooo
goodoooboooooooobuoooooog
O0000AERO ASTRO O O Coarse Sun Sensor 00 0
gbobo220000000000000000 2200
ooooo

0 22:.00000000

00 deg | 120 (full angle)

oo deg +5
good g -40 to +93
good W 0

00 mm $12.7x9

00 kg 0.01

4.2.2 00000

ooboo00o0ooobooooooboobooooog
oobooO0o0oooooobooooooboooooooboo
gboobooobobooboboooooboooon
0000000000000 SURREY OO SSTL 3-
AXIS FLUXGATE MAGNETOMETER Mk.20O 00O
gbob020000000000000000 230
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oo ndT +10
ooogd pudT +60
ooogd Hz 10
ooogd O -20 to +50
oood | mOW 300
good A% +10.5

oo mm 85x35x32

oo kg 0.140
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oboooooobobooooboboobooobo
uobooboobbooooooono 3oooaoo
gbooooooobbooboooobooobboooboooo
gbooooooobbooboooobooobboooboooo
KvHOO DSp3oo0000000O0O00D0OO0OO0OO
260000 DSP300000DOODOO 240 DSP3000
goobooo

020000000

O000d | deg + 375
godd | ppm 1000
good W 3
oo kg 0.27
odOod | mm | 88.9x 584x%x 33
opogd a -40 to 75
4.2.4 GPS

gbooooboooboooooooooobooooog
gbooboooboobooobooooooooooonog
gooopopoooooDoDoOO GpSOOODODDOGPS
gooboobobooobooboooobooboooo
0000 SURREY OO SSTL SGR-05P SPACE GPS
RECEIVEROOODOOOOOOOOO0 GPSODOOO
ob200000 20000000

4.3 0O0OO0OOOOOOOO

ubobO300o0obobooooooboobon
ooboooobbooooobooooooboooooo
gooboooooooboboooooboooboo
gbooooooboboooooooobooog
uboooooobobooooobobooooooo
gboobooobobOoooobooooobooon

O 25: GPSOOO

oooo [us]

1

0000 [m]

10

0o0oooo s

60 (warm start)
540 (cold start)

0ooo 0] -20 to +50
0ooO (W] 0.5 to 0.8
0ooo [V] 5
00 [mm] 70x45%10
00 [ke] 0.02

gooboboooobboboobobboooooboobo
obooooooboobooog.

4.3.1 0ODO000OOO0OOOO0OOOO0ODOOO00
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0000000 1000o00oooooooo 3000
goodooooooooooo 200000 260
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O 26: Reaction Wheel Type RW-01

00 [mm] 115x115x86
00 [ke] 1.8
0000000 [kgm?] | 2.12x1072
000 [rpm] 5000
0000 [Nms] 1
00000 [Nm] 2.0x1072
oooo (W] 4
oooooo (o] -20 to +70
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goboooboboooboboooobboooboobd
gboooooobooooobobooooooan
gbooboobooooobooboooooboobobo
gogbooboooboobooboobooboo
ggbooooooboobooooobboooobood
gboobooobobooooooooboooobobo
goboobooooboobooboooocooooong
gobooboob sbgbboobboobbooboo
gobooboooobooboo 20000000
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T 00000 [Nm)]
M : O00000O0O0OO0OO0OO0O0O0O0 [ATm?
B 0000000 [Wh/m?)

gooobooooooobooobboooMMOoboooo
oboooooooboo

M=FkHxDO)
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H : 000000000000 [Nms|

gboobooooooboboooooboobobooboo
0000000 785degd 00O 69.0deg0 00O OO0
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Om = —ﬁsin)\m
a

fim,
Am

gogboobooboobooboobgooobd

0000000000000 [rad]

B =-Vén
ubooooooboobooooobooboboo

38in Ay, cOS Ay, COS Ny

B=— % 3sin A\, cos Ay, sinny,
a
3sin? N, — 1
M, 00 [rad]

uboooooobooooobooboooboonog

|B| = %\/1 + 3sin? A,

goboobooooooobooooooooooooon
gbooooboobobooboboooboobod
gboboooboobooboobobooboooboo

00000000000 (=1.0x 107)[Wbm]
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0000000000000000000000000
00000000000000000000|Bawe|=2.95
x 1074 [T]0000000[T]) = [Wb/m?|00000
O00HOOOOOD 200000000

1

2000[8] = W

O000k=5.75x10% [s/T?| 0000000 k000D
00000000D000000

M k-H-|B|
5.75 x 10% x 0.15 x 2.95 x 10™*

2.54 x 107 [ATm?|

goboooooooooooooooooobooobooboog
gboobooobobooooooboobooboooboo
gbooooobobOooooboobooboob2roon
6.2[ATm?] 0 000000000000000000
opooo

0 27: MTR-5 Magnetorquer

000000000 [am?] 6.2
00 [mm] 251% 3066
00 [k 0.5
oooo [v] 5
000000 (W] 1
5 000
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gogoboooobboooooobboooogo
gboooooooboboboboboobonooooo
gbooooooooobooboboboooooong
gboo0oooobobooooooooboobooon
goobobooboooboobooooboooobbgo
gogobobooboboobooobooobooon
uboooooobobooooobooboo
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0 28: 0000
afalsls 000 |00 [v] | 0000 (W]
ooooo 1 10.5 0.3
GPS 1 5 0.8
oooooo 4 14 20
o000
ooooo 3 5 3
ooo 1 5 4.05
ooo 1 5 0.15
CPU,PCU 1 5 10
ooo 1 3.6 2
ooo 1 24 6
ooo 5 140018 7
oooo 3 5 6
029000000
oo 0o O
oooo | Vv 3.8
0000 | Ah 1.04
oo g 32
oo mm | 33.8x6.5%66.6

uobooOooooobOooooboOooooobooon
ggooboooboboboboooobooooboobo
gobooboobooboobogbogoo20030 6
oooooooooODODDDbOOO CcUTE-IDOOOO0O
gboooosboobooboboocobooboobooon
gobobobobobooooooooo 29000
goobood

5.3 ODUOUOoooboboobodgd

gboooboobooboobooboboooboooooo
opooo

P.T,

O = NV
C, 0 000000 [Ah]
P, 0 O0OOOOOOO [W]
T, O 0OO0OOO [h]
C, 0 000000 DOD[-]
N 0 00000000 (O]
V, 0 0000000000 (0OoO00)V)
n 0O 0OJ000O0O0O00OCO0OOCOOOOOOO [—]

o2000000000000 24a4v0000000
ooo0Oo2vo00ooooooooooooo 38vo
oo0ooooooooooooo NODOODODOO
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gooooooooboooooo  N=7000O
oo0oooooooboboOoOoOoOoOog 28000
obi1o0ooobobooooboboooooboo
o021400100 12000000000000D00O
gbooOods000o0o0oooooooobbocoooon

12[cycle] x 214[day] x 5[years] = 12840]cycle]

00000 2r00000 DOD OO 25%00000
J000ooooooo 21%000000

100000 07—

10000

Cycle Life

1000

100
0 20

Depth of distance /%

40 60 80 100

0270000000000 DOD

\ \
| [ \
| \
\

100 150 200 250

H5 OB NS0 A H[day]

028 10000000000

gbooobooocooobooon

50.3 x 35/60
0.21 x 7 x 25 x 0.8
0.998[A 1]

Cr

000O000DO0o0DOoO0o00O0o001.04Ah000
obooooooborooobobooogoDo 10
gboooooboboooboobooobooooobon 2
gbooooooboooooog

32 X 7 x 2 = 448|g]

gogod
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goobbooobbooboboooboooboooo
gooooooooobooooboboboooooo
gboooooboooboooooooobooobobooooon
0000000000000 00000O0ODO0GaAsO
gooooooobobobuobuobobuoboboo
gooodoboobobobobobooooboobo
gooooooooobooooooboobooooboooo
gobooO0oo0ooooboooooobooobooogoo
gooooooooobooooboboobooooooo
OO00O00o0oOooooOooood SPECTROLABOO
GalnP2/GaAs/Ge 0 0000 0O NeXt Triple Junc-
tion (XTJ) Solar Cells 000D OO0 3000000
gobdbobooobd 2emx2em 000 ogogog

030: 000000

00 (at 280) o0 O
00oo - 0.299
oo mA/ecm? | 17.32

oo \% 2.333
oooooo - 0.90
oad mm 0.14
0000000000 | mg/cm? 84
ooooooo - 0.88
ooooooo - 0.95
0000 %,/0 -0.286
o000 cm? 4.0

goboobooboobooboobobooobo
gbooboooboboooooooooobobobo
gboooooobOobooooooooooonog
gboobooboopoooooooobooboobobobon

5.5 OUOUOOobbObOOOOon

gbobooooobOoboooobooboobono
gboobooooobooooboobobooobobo
gooboooboboooboooobooooooobo
gbooboooooboboooooooooboboonog
gbooooooboboooooboboboooboo
gbo,000000000000

P - PeTe/Xe+Pme/Xe+Pde/Xd
sa — Td
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P, 0 000000 [W]

P, 0 00000000 [W]

P, O 00000 [W]

T, O 000 [b]

T, 0 0000000 [h

T, O 0000 [b]

X, 0 00000000000000000 [-]
X, 0 00000000000000000000 [-]

00000000000000000000X, =
0900 X, =0900000000000000000
000010000000000 300000000
002000000000000000000000
000000000000000000000 8300
000000000000 000000000000
000
P, = 74.14]W]

goooobboooooooooboboboboooo
gboooobooooooboooooooboooboooon
gbboooboobobooo 120000000000
obooo2vooooooooogoooo

googod 25 x1.2

30[V]

gbobooooboboooboobobobobobo
gbooooooon

1.04[A-h] x 30[V]
85/60
74.14 4 22.0

96.14[W]

Py +

P,.(EOL)

00000000P,(EOL)=9.2W0000000
000000000000

000000000 1350W/m200000000 (O
0 36000km) 0000000000000 1350W/m?2
000000000000000000000000
000000000000000000000000
00001350W/m2 0000

00000000000000000000000
00000000000000000000000
0000 74500000000000000000
0.88x0.95=0.836 1000 000000000000
000000000000000 0degd 000000
1-(74.5-28) % (-0.286/100)=0.867 0 00 00 00O 0 O
00000000000000 Py(BOL)OO

96.2

0.836 x 1 x 0.867
132.72[W]

P,.(BOL)




gooogo

Py, (BOL) - 132.72
00000 xO0000 1350 x 0.299
= 0.329[m?]

00100000 2emx2em 0000000000

ooooo 0.329
oooo 0.0004
= 823[0]

gogboobooboobooboobooooobo
goboobooboo&gsbogooooooon
000.3332m?000000000000000 95%0
uboooooobobooooonoo

00000 03332
000000000 0.95
= 0.3513[m?|

000000000000
840[g/m?] x 0.3332[m”] = 280.0]g]

o0oobooO0o0o0oOoo2333voboooogooon
oboooooogo

30

10.71
2.333 07

< 11[0]
0oooo
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gboooooooooboobooooboooooog
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gbooooooboboooobobobooboo
goboooooooboooooobooooooooog
goboooOooooo200000000000000
obooooooboooooobobooooobo
gboobooobobooobooocoobooooon
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6 OO4d

6.1 OUOOgooooOO

gooo0oooobooooooboooooo2000
goboooooooobooo0oooboooooboooOo 1o
gooo2000000000ooobobbboooo
ggobooobbuooobbooobbooobboga
gboobooobobOoooboooooobooon
O0000O0OO0OHKOOO (HouseKeeping data) O O
googoobobbbboooooobbobobobbo
gdodoooobobobbboooooouoboobooobo
000000000o0oooUoUOoooooooo (o
000)000o0oooUo0oooOooooooooo
000000000000 0DODOO000OOn 9deg O
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gbooboooboobooobOoooboooooong
gboooobobOoooobooooboooooboo
goobbooboooooobbbouooooooobooboo
gbobooooooobooooooboobooooo
gbooooboooobooboobooooobooon
gdoooooooobbbbboooooooboobo
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6.2 U0OU0OOOODOOO

6.2.1 0O0O0OO0O0OOOOO

O0O0o00o0ooobbOobOobOYdegionogn
gbooooo gooboboboboooooooo
gboobooobobooooboooboobooocooobogan
gobooooooooooooobooooooooog
430MHz OO 0OO0O0OODOOO0OO0OO0OO0OOO0DOoDOo
gboggboooboooboobboonooooboood
gbooooboooboooboooboooobooobobo o



45[deg) 000D 0000 OOOOODOODOUODOUOD
000000000000 1680.9kmO00 7.033km/s
gboooobooobooobooooboboon 200s0
gboooooobooog3ioooo

03000000

0o km | 1680.9

0o min | 120
oooooo km/s | 7.033
00000000 | deg 45
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6.2.2 0DUO0O0OO0OOOO

oboooooo1ooooo 200000000
O0o0oDO0O00 CMOS O000O1600 x 1200pixel O
1.6Mpixel UODOOOODOODOIpixelOOO 1000
oooooobbOo0o0oO1gooon 1.6Mbyte D O
oooO0O0o00ooooooooDoooboD JPEG2000000
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03000000000
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opoooo mm 76x50x10.5

O 3: 0000000

oooooood m 1
oooooooog | dBi | 10.26

6.3.2 0OO00OO0OO0OO0OOOODOOO

gobodooooboooooooooboooo

podoooooooooooobooooooboon
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6.4.1 0OO0OO

goobOoooooboooboobooooobooo
000000oooooooo(FM)ooooooo
o0000o GFSKOOOOO

6.4.2 OO EIRP

00000000 Pg[dBW]OOOOOOOOOO
gooo

Pg|dBW] = Prx — Lrrx + Garx — Laprx

Prx : 000000 [dBW]
000000000000000
000000 [dB]

Lrrx

Garx 00000000000000
0000 [dB]
Liprx : 0000000O0O000000

(0000000 [dB]

6.4.3 00 G/T
00 G/T [dB/K]0000000000000

G/T[dB/K] = Garx — Lrrx — Laprx — Ts

Garx 00000000000000
0000 [dBi

Lrrx 000000000000000
000000 [dB]

Liprx : 0000000000000000 [dB]

Ts . 00000000 [dBK]

000000000000 Ts[dBK) OOOODOOO
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T[dBK] = 10log(Ta/L + Tr(1 — 1/L) + Tg)
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T, : DOOOOOOO K]
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Ty : 00D0ODOO K]
00000000000000000000 NF[dB]

gogoobogoooboobboooobboooboboo
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TplK] = (f-1T
f = 10%noo0o0o0oooo
To = 290[K]

6.44 000000
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d : 000000000000 [km]
A 00 [km]
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LdB|0D00OOO.

(R + 1)(R3 +1)
RiRy +1)2cos2 0 + (R2 + R2)2sin%0
( 1 2
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Ry
Rs
0

ubobooooooobo
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000000000 000000000000 L,dB]
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00000000000000000 0.01dB/km O
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